Laske desimaalien prosentit

Nimi: Piivimadrd: __ Pisteet: ____
2,53 x90% = 4,56 x 30% =
8,66 % 70% = 6, 52 x 60% =
2 x10% = 3,11 x80% =
8,72 x90% = 2,29 x 30% =
2,66 x40% = 4,59 x70% =
0,3 x30% = 2x70% =
1,75 x 50% = 1,92 x 10% =
4,03 x 10% = 7,09 x 80% =
0,9 x50% = 3,52 x70% =
6,98 x 30% = 9,96 x 60% =
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Laske desimaalien prosentit

Nimi:

2,53 x90% = 2.277

8,66 % 70% = 6.062

2x10% = 0.2

8,72 x 90% = 7.848

2,66 x40% = 1.064

0,3 % 30% = 0.09

1,75 x50% = 0.875

4,03 x 10% = 0.403

0,9 x 50% = 0.45

6, 98 x 30% = 2.094

Paivamaara:

4,56 x 30% = 1.368

6,52 x 60% = 3.912

3, 11 x 80% = 2.488

2,29 x30% = 0.687

4,59 x70% = 3.213

2x70% =14

1,92 x10% = 0.192

7,09 x 80% = 5.672

3,52 x70% = 2.464

9,96 x 60% = 5.976
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Pisteet:
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